Foundations of Algebra NP Kﬂa‘“l

5.2 — Applications of Linear Functions Date: J Block: ———

Learning Goal 5.2 - Applications of Linear Functions

What you Things to remember Examples 4‘
need to know
& be able to
do i f the
1. Determine Domain: input, x- 1. Determine the domain & range of the | 2. Determine the domain & range o
the values, “left to right” function. function. .
characteristics ot s . . - %
of linear Range - output, y- , =
functions values, "bottom to top” ': i
x-intercept(s): where 5 -
Days 11 & 12 plE]pwher

the graph crosses the x-
axis.

IS T R TN S B W B O |

y-intercept(s): where
the graph crosses the y-

axis. i p
maximum/minimum: i e
the highest or lowest oS e 0 S 1) B
ints.
. Domcin:_m_ Domﬂin:__\B__ Range:‘ﬂ__
Increase: Wh_e re.ihe Interval of Increase: m r Interval of hcreose:__nme-_
graph looks like it's
going “up hill". ntervalof Decreass: Y1ON € intsrval of Decrease: {R
Decrease: where the Maximum: NONE Minimum:NON €. Maximum: YION€ MmamumnNON€
raph looks like it's s

goir?g “down hill" End Behavior: As xgr, > 99 End 3ehevio: As 5/‘ fx)>_= G0

’ As x3 -7, % 3=00 \s x>, flx]> O _

- N

Constqni: W.here the ZerOS:Lf'_" X-!nfercept(r__ﬂlb Y-Iniercepi:(gﬁ) Zeros-X'-‘-"} )(»lnferceph('qtq Y-lntercep?:m:z‘.
graph is horizontal.

End Behavior:
“left side” x » —c0
“right side" x = o

what direction do the

7: left and right arrows

‘ go2
2. Determine For what x-values is 3. Give the inequadiity for the parts of the | 4. Give the inequality for the parts of the
where the the graph in the groph Thof are posmve cnd negcmve groph ’rhon‘ are posn‘we and negcmvo
graph is positive (above x- ! e T i ‘ o
positive and axis) region and in t LL
negative the negative (below i1

x-axis) region?
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Posive: X > =tf postive: X ¢ 3

Negative: ¥ & -4 Negctive: X 7 3
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13, X-intercept: (a, 0) 5. Which functions have aninterval of 6. What are the x and y intercepts for the
Characteristics | Y-intercept (0, b) increase? How do you know? equation 3x - &y = 242 ‘
of functions » ‘;‘1 %08'*1” Slop€ Krinmk (o) y-int (%=0)
without a X) = eX= __.-——-\j--«-
Lfix) = -Vax + 4 » 2L - ey =24
raph. = =)
grap C.f(x) =-3x—1 31\ w L* " __Bz.q
Cay 11 &12 (©)flx) = 3x +9 Ah=2Y -
% =8 3 =-Y
(8, 0) (o l"'lﬂ
4 Domain: x- values 7. Calculate the slope and y-intercept. 8. Calculate the slope, x-intercept, and y-
Characteristics Interpret them in terms of the problem intercept. Interpret them in terms of the
in the Real Range: y-values scenario. problem scenario.
World 2 Television
X-intercept: (o, 0) Number of To;’.&:?f -
lloons -
Cay 13 = 0 (in Doliars) o
Y-intercept (0, b) !
2 6 2' o & ™
Slope: Change iny g AY; " \L"t iy g s
over change in x 9 § 20
6 18 2
< s
8 24 - \
Slepe: © 3
¥, N _ 2
— - a— Numbar of Weeks

2 ballons | balloon

3-}n\"- (0,0)

I
Vo i\ §pand §0.

oW bu\ﬁ 0 lmlloxn§

*n}: (0,400)
3:1-]'%'&“;,‘ 300 oue 100
%k (L\:D)

Afler U weeks, you

paid. Hhe TV of
Siope : 2100
L week
oL 100 of -er
bi\f -wc,hﬁ wale

9. Which demain would be the most
appropriate set to use for a function that
relates x amount of people in a house to
the total number y amount of household
devices?

@)SeT of Whole Numbers
- Set of Integers

C. Set of Rational Numbers
D. Set of Real Numbers

Cant Wove negrhve .
“or parhox prople

10. At anice cream shop, the profit, P(c).. 0 1
is modeled by the function P(c) = 0.87&; :
were c represents the number of ice
cream cones sold. What set of numbers
would be appropriate for the domain
and range? Explain why.

Domain:

Sot of whole numbers
(co,rh have parhal or neﬂﬂvc_)

S cones
ge?\.' of rationral NYmpeS
(dealing with money )

P1(0) =0
210 - 90.87
L@ (D=9 .14
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5. Creating

Standard Form:

11. Ed has $36 to buy paints and brushes

12. Gail crders CDs for $8 each plus a
total shipo'ng cost of $5. Write an

Equations from | Ax+ By =C for a school project. Jars of paint cost i !
a Word *Total $4 each. The brushes are $2 each. equction to determlng {F e total cost of
Problem *Two different Write an equation to determine the purchasing ?Ds. If Gail ‘F ent 54 how
amounts combination of brushes and paint he many CDs did she order?
Day 14 & 15 can buy. If he buys 3 jars of paint, how 6 Y. X 5
Slope Intercept Form: | many brushes can he buy? %
y=mx+b i -
*Rate 1% 2 = 3L 5‘5 - BX+H
*Starting Amount/
One Time Fee Lu—:’ﬂ\' 5:5L’ e - 8}.
\2L ¥ 2U =3
J 24 =X
gy =\ lé cds&
‘ 12 orushes ‘
6. Comparing | Determine what the 13. Which function has the greater rate 14. The tcole to the right shows the
Linear slope and y- of change and y-intercept? distance (in meters) Runrer A and Runner
Functions intercepts are and B ran at different time intervals. Which
interpret themin a Function l:y=2x+3 runner has ¢ faster averaje speed frem
Day 16 real world context Function 2: (0, 4), (1. 8), (2. 12) 20 to 31 seconds?

before comparing.

olope.

Funchon @ 2=
Funchion 2: Y

FurChon 1'S Slope s
Rigr
U-int-
Funchon \: (03)
Runction 2 (O\v)
FunChion 2's Yrink s igger

Time Runner A Runner B
0 0 0
9 120 120
205411 168+ po 213y m
31 2R 287%
Runner A: WA meles o .
\\ Lot odsS <o,
Runrer B "_‘_*,EE_.’*US o o]
\| S2cendl. She -

Qurver B IS Sasker,

Function A: f(x) =

Function C: aline that has a slope of 2

3120 & 25
-47= 20\ +o

15. Which function has the greatest y-intercept?

And passes through (1, -4). (Hint: 5.1 - Day 10)

Function B: 2x + 3y =

229 S (O "\\,
% =-2% 13
e a 5

.._,1 \L ?L*
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